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[ESM411] The collision between human numbers and the _______ needed to sustain 
them will become more acute.
resources

[ESM411] In sub-Saharan Africa, for example, public long-term debt amounted to 
______ per cent of the regionÃ¢â‚¬â„¢s GNP in 1986.
58

[ESM411] Developing countries pay an even higher price for neglecting environmental 
________ .
accounting

[ESM411] _______ and waterlogging result from bad irrigation projects.
Salinization

[ESM411] A good part of the struggle to balance population with available natural 
resources will be concentrated in the _______  world.
developing

[ESM411] The gross ______ in international trade also contributes to the non-
sustainable use of resources.
imbalance

[ESM411] The world total of salinized land is estimated at _____ per cent of all irrigated 
lands.
22

[ESM411] Many of our technological innovations have contributed to environmental 
decline and are turning out to be no more than temporary ____.
fixes
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